SI Mock Exam 4 Answers
          
1. Would Hydrobromic Acid fully dissociate in water?

a)No, because it is a weak acid

b)Yes, because it is a weak acid

c)Yes, because it is a strong acid
d)No, because it is a strong acid

2. Find the equilibrium constant expression for the equation: CH4 (g)  +  H2O (g)  [image: image1.png]


  3CO (g)  + 3H2 (g) 
a)    [CO][H2]  
[CH4] [H2O]

b)   [CO]3 [H2]3
[CH4] [H2O]
c) [CH4] [H2O]
[CO]3 [H2]3
d) [CH4] [H2O]
[CO]  [H2]
3. Which of the following is Not necessary for a chemical reaction to occur?

a) A catalyst must be involved in order to start the reaction

b) A collision between two molecules must occur

c) The collision must have sufficient energy to break bonds

d) The molecules must be properly oriented 

4. Find the equilibrium constant expression for the equation: H2O(g)  +  C(s)  [image: image2.png]


  H2 (g)  + CO(g)
a)   [H2] [CO] 
[H2O] 
b)   [H2O] [C]
[H2] [CO]

c) [H2] [CO]

   [H2O][C] 
d)      [H2O]
[H2] [CO]

5. What would the result be if a catalyst was added to the equation below?

CaCl2 + Na2CO3 [image: image3.png]


 CaCO3 + 2 NaCl   This is a Strong acid and Carbonate Salt 
a) The equilibrium would shift to the right or products

b) More products would be produced to compensate for the catalyst

c) The reaction would occur slower than normal

d) The reaction would occur faster than normal 

6. Which of the following is NOT true?

a. Titration is a laboratory procedure used to determine the molarity of an acid. 

b. Titration uses an acid such as HCl to neutralize a measured volume of a base.

c. Titration uses a base such as NaOH to neutralize a measured volume of an acid.

d. An indicator causes the acid solution to change color when the acid is neutralized.

7. When an acid is added to a solution what is true?

a) H3O+ increases

b) H3O+decreases

c) OH- decreases

d) Both a and c
8. Given the reaction H2(g) + Cl2 (g) [image: image4.png]


  2HCl(g), if the final concentration of H2 is 1.5 M and Cl2 is 0.5 M and the Kc value is 15, what is the final concentration of HCl M ? 
a) 3.35
b) 11.25
c) 30
d) 13.5
9. What direction does the equilibrium shift if the heat is increased in the reaction below?   


2HCl + 2Na [image: image5.png]


 2NaCl + H2 + 250kJ

a) To the products 
b) To the middle of the equation

c) It does not shift

d) To the reactants 

10. What would result if the Sn and SnO2 were removed from the reaction below?


 SnO2 + H2 [image: image6.png]


 Sn + 2H2O 
a) The equilibrium would shift to the products

b) The equilibrium would shift toward the reactants

c) No reaction would occur
d) The reaction would take longer to occur
11. If a solution has [H3O+]= 3.5*10-3 , then what is the [OH-]?

a)3.5*10-11
b)3.5*10-14
c)2.86*10-12
d)2.86*10-3

12. If an unknown solution has a pH of 6.5 what property will we know about the solution?
a) It has a volume of 6.5 mL 

b) It is acidic

c) It is basic

d) It has a low concentration

13. What is formed when acids and bases are combined in a neutralization equation?
a) A salt and water

b) Carbon dioxide and water

c) A new acid and base

d) Acids and bases never combine 
14. What will the products of the reaction with the strong acid HNO3 and the metal Copper(II) be?
a) Copper hydrogen

b) Hydrogen and Copper Nitrate

c) Hydrogen and Copper Nitrite

d) The products will be the same as the reactants
15. What is true about the following reaction?

NH3(g) + H2O(g) [image: image7.png]


 NH4+(g) + OH-(g)
a) the reaction is in equilibrium
b) the reaction is not balanced

c) the OH- produced is a base

d) all of the above
17. HNO3 (aq)  +  OH-(aq)[image: image8.png]


H2O(l)  +  NO3-(aq) Based on the equation which is true?

a) HNO3 is a conjugate acid and NO3-  is a base

b) HNO3 is an acid and H2O is a base 

c) HNO3 is an acid and H2O is a conjugate acid
d)OH- is a base and NO3-  is a conjugate acid 
18. Hydrofluoric acid has a Ka value of 7.2×10-4.  What is the pH of a buffered solution containing 0.35 M   of HF and 0.25 M of F- ? 

a) 7.200

b)2.799

c)2.997
d)0.353

19. Which is true?
a) The Arrhenius theory states that bases contain H+, and give up H+ in solution 

b) The Arrhenius theory states that bases contain hydroxide OH-, and give up OH- in solution
c) The Arrhenius theory states that base is a proton (H+) acceptor.

d) None are true statements. 

20. What are the products of the following reaction? 2HCl(aq) + Ba(OH)2 (aq)       
    

a) no reaction will occur
b)H2 (aq)+ Cl2 (aq) + Ba(OH)2 (aq)
c)BaCl2 (aq)+ OH- (aq) + H+
d) BaCl2(aq)  + H2O(l)
